RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving FY 2021 Department of Health and Human Services Self-Governance Budgets)

RESOLUTION NO. 20-252

1	WHEREAS,	the Tohono O'odha	m Legislative Cou	ncil is authorized "	to manage any funds	
2		within the exclusive	control of the Tobo	ono O'odham Nation	and to appropriate	
3		these funds for the	benefit of the nati	ion and its member	s" provided that "[a]II	
4		expenditures of the	ese funds shall be	pursuant to approp	priations or budgets"	
5		authorized by reso	lution or ordinan	ce (Constitution of	the Tohono O'odham	
6		Nation, Article VI, Se	ection 1(d)(2)); and			
7	WHEREAS,	the Department of	Health and Human	Services has prepar	red and submitted for	
8		review and appro-	val its FY 2021 S	elf-Governance Bud	lgets for the period	
9		beginning October	1, 2020 and endin	g on September 30,	2021 (collectively "FY	
10		2021 Department	of Health and Hur	nan Services Self-G	overnance Budgets"),	
11		which are provided	below and incorpor	rated by this referen	ce, in the total amount	
12		of \$6,868,661.41 to b	e funded by the Sel	lf-Governance Fundi	ng Agreement; and	
13	WHEREAS,	the following budg	ets in the amount	of \$6,868,661.41 ha	we been prepared as	
14		follows:				
15		Program	Base Allocation	Indirect Cost	Total	
16		Management of Healt	h \$1,080,269.40	\$209,059.60	\$1,289,329.00	
17		Behavioral Health	\$2,444,327.03	\$467,380.38	\$2,911,707.41	
18		Community Health	\$2,062,056.16	\$404,689.84	\$2,466,746.00	
19		HIV AIDS	\$ <u>16</u> 8,095.12	\$ 32,783.88	\$ 200,879.00	
20	_	Total	S5,754,747.71	\$1,113,913.70	\$6,868,661.41	
21	WHEREAS,				ice Committees have	
22					Human Services Self-	
23		Governance Budget				
24	NOW, THERE				Council approves the	
25					-Governance Budgets	
26					61.41, which shall be	
27		funded by the Self-(
28	BE IT FURTHER RESOLVED by the Tohono O'odham Legislative Council that the Tohono					
29					uthorized to negotiate	
30					g Agreement with the	
31				m allowable funding		
32	BE IT FINALI				t the Tohono O'odham	
33					zed to administer and	
34		expend the FY 2021	Department of He	alth and Human Sei	vices Self Governance	
	п				·	

1 2 3 Budgets, provided that any amendments or modifications shall be submitted for prior approval by the Tohono O'odham Legislative.

The foregoing Resolution was passed by the Tohono O'odham I e 08TH FOR; cil by ed by istant June

٠.	The lovegoing Resolution was passed	by the ronono o odnam legislative Council on the <u>08</u> ."
4		t which a quorum was present with a vote of 3,175.7 FOR
5		ABSENT, pursuant to the powers vested in the Council by
6	Article VI, Section 1(d)(2) and (3) of the	Constitution of the Tohono O'odham Nation, adopted by
7	the Tohono O'odham Nation on Januar	y 18, 1986; and approved by the Acting Deputy Assistant
8	Secretary - Indian Affairs (Operations)	on March 6, 1986, pursuant to Section 16 of the Act of June
9	18, 1934 (48 Stat.984).	, and the of 1900, pursuant to section 10 of the Act of June
10	,	
11		
12		TOYONO OLONYANA I ROJOV AMIN'N CONTROL
13		TOHONO O'ODHAM LEGISLATIVE COUNCIL
14		May 14th /
15		//////////////////////////////////////
16		Vimothy Jeannin, Legislative Chairman
17		15 day of Setember , 2020
18		
19		\mathcal{F}
20		
21	ATPEST:	
22	Chun Wels	
23	Cum coes	
24	Evonne Wilson, Legistative Secretary	
25	111 (/ + 1)	
26	14 day of Sytenle, 20.	20
27		
28	Said Resolution was enhanted for a	ample of the affine of the city of the cit
29	O'odham Nation on the	proval to the office of the Chairman of the Tohono
30	numericant to the provisions of G	of Article VII of the Constitution and will become
31	effective was his assessed	5/of Article VII of the Constitution and will become
32	bowe of a bowletter	is failure to either approve or disapprove it within 48
	hours of submittal.	
33		
34	<u> </u>	
35		TOHONO O'ODHAM LEGISLATIVE COUNCIL
36		//
37		MINIMITHE WOOD / -
38		
39		Jimothy Joaquin, Legislative Chairman
40		0 1 (1)
41		₩
42		
43		
44	APPROVED on the	ne / Ce day of Syluh , 2020
45		
46	[] DISAPPROVED at /	2.3% o'clock,m.
47	at_	2. 540'clock,m.
48		$\mathcal{N} / \mathcal{N} / \mathcal{N}$
49		/\\/\/\ \/\\\\/\
50	NITTO N	Name of the second of the seco
51		NORRIS, JR., CHAIRMAN
52	ТОН	ONO O'ODHAM NATION

RESOLUTION NO. 20-252 udgets)

Returned to the Legisl	lative Secretary on the	
Systemle	, 2020, at 3:15 o'clock,m.	
Evonne Wilson, Legisl	lative Secretary	
Itoliic Wason, negisi	active sectionary	
•		

ACTION: APPROVING FY 2021 DEPARTMENT OF HEALTH AND HUMAN SERVICES SELF-GOVERNANCE BUDGETS

MOVED: COUNCILWOMAN JANICE FELIX SECOND: COUNCILMAN LEANDER MASE

DATE: SEPTEMBER 08, 2020

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSEN
BABOQUIVARI	1. LEANDER MASE	192.40	X			
384.8	(Francine Schooling) 2. ALBERTA J. RAY (Frances G. Antone)	192.40	X			
CHUKUT KUK	1. VIVIAN JUAN-SAUNDERS	173.75	x			
347.5	(Juanita Homer) 2. MARLAKAY HENRY (Billman Lopez)	173.75	x			
GUACHI	1. VICTORIA HOBBS	139.65	х			-
279.3	() 2. TIMOTHY L. JOAQUIN (Louis L. Johnson)	139.65	X			
GU VO	1. DALLAS LEWIS	132.25	X			
264.5	(Nacho Flores) 2. GRACE MANUEL ()	132.25	x			
HICKIWAN	1. SANDRA D. ORTEGA	106.90	x			x
213.8	2. LOUIS R. LOPEZ (Delma M. Garcia)	106.90	x			
PISINEMO	1. MONICA K. MORGAN	115.35	x			
230.7	2. MARIETTA MARTIN ()	115.35	X			
SAN LUCY	1. GLORIA RAMIREZ	117.80	x		5	
235.6	() 2. JANA MONTANA (Lorraine M. Eiler)	117.80	x			
SAN XAVIER	1. JANICE FELIX	119.45	x			
238.9	(Adam Andrews) 2. DANIEL L.A. PRESTON III (Racheal Vilson-Stoner)	119.45	x			
	1. QUINTIN C. LOPEZ	94.50	x			
189.0	(Agnes V. Joaquin) 2. TERESA F. DONAHUE (Alberta Espinoza)	94.50	X			
SELLS	1. EVELYN JUAN MANUEL	273.55	x			
547.1	2. ARTHUR WILSON	273.55	х			X
SIF OIDAK	1. LUCINDA ALLEN	122.25	x			
244.5	(Yolonda Garcia) 2. MARY LOPEZ (Ann M. Garcia)	122.25	x			
	TOTAL	3,175.7	3,175.7	-0-	-0-	[02]